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Adding Simple Fractions Subtracting Simple Fractions
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Multiplying Fractions

Comparing Fractions
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Fractions Homework (4) E " s

73. There are 24 hours in a day — Beyoncé sleeps 3/8 of the day. How much time has she

spent sleeping?
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74. Batman is 160cm tall and Robin is 7/8 as tall as him. How tall is Robin?
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75. There 300 Kids in a school — 2/5 of them like Adele the singer. How many kids don’t
like Adele? Z2/c Wee 72 3¢ don/t Ga
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76. Zayn has £64 — he give 1/8 to Katy Perry and 3/8 to Taylor Swift. How much does he
keep for himself?
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77. 500 ml of 2500 ml of bottle of orange squash is concentrate. What fraction is
concentrate?
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Fractions Homework (5)

8. Tesco normally sells Twix bars for 40 pence. The sign says if | buy 3 | can have them for % less
than the normal price.
How much can | buy 3 Twix bars for?
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79. If 5/12 of box of chocolates weigh 20g, what is the weight of the whole box of chocolates?
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80. If 2/5 of my money is 50p — what is value is all my money?
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81.after | brought a phone costing £200, one third of what | had left was £60. How much money
did I have at first? £3¢0
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COMPREHENSION: OSTRICHES
86 B
87 A
88D
89 C
90 B
91D
92 C
93D
94 D
95 B
96 D
97 C
98 A
99 C

COMPREHENSION: SOAP

100 C

101 B

102 D

103 A

104 C

105D

SPELLING
106 b) absence
107 c¢) accommodate
108 c) achieve
109 a) acquire
110 d) address
111 c) advertise
112 a) advice
113 b) animals
114 b) another
115 b) apparent

Nouns
116 B
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119 A
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126 D
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129 A
130 A
131 C
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150 o
151 f

152 t
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154 n
155 p
156 d
157 m
158 k
159 r

NVR
160 b
16l e
162 a
163 c
164 d
165 b
166 d
167 a
168 ¢
169 c
170 d
171 b
172 e
173 a
174 d




